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Il Semester B.Com. Examination, April/May 2012
(Fresh) (2011-12 & Onwards) (Semester Scheme)
COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 100

Instruction : Answer should be written fully in English or in Kannada.

SECTION-A

Answerany 8 sub-questions from this Section. Each sub-question carries 2 marks.
(2x8=16)

1. a) What is statistics ?
b) Me =42 and Z = 40, find X.
c) What is Base Year ?
d) What is positive correlation ?
e) Calculate two regression coefficients, whenr=0.9, o, =10 and oy, =1.5.
f) How range is calculated ?
g) Give the meaning of Time Reversal Test.
h) For a distribution variance is 121 andits C.V is 23.16%. Determine its mean.
i) What is an inclusive series ? Give an example.
j) Q; =225, Qq=54.722, find Q.D. and its coefficient.
k) What is mean deviation ?

I) What is regression ?
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SECTION-B
Answer any 3 questions. Each question carries 8 marks. (8x3=24)
2. 100 students appeared for an examination The results of those who failed were

given below :
Marks : 5 10 15 20 25 30
No.of Students : 4 6 8 7 a3 2

If the average marks of all the 100 students is 68.6, find out the average marks
of those who have passed.

Calculate the mode and median from the data given below :
Weight (inkgs) : 58 60 61 62 63 o4 65 66
No.of Persons : 4 12 24 32 32 16 8 2

. Calculate Spearman’s rank correlation coefficient from the following data :

X: 60 15 20 28 12 40 8 20
Y: 10 40 30 5 30 20 60 30

Find which of the Batsmen is more consistent player and better run getter from
the following :

BatsmanD: 5 7 16 27 39 53 56 61 80 101 105
BatsmanT: 0 4 16 21 41 43 57 78 83 90 95

Calculate Fisher’s Index Number from the following data :

ltems Price Quantity
Po P4 9 94
A 16 40 100 120
B 4 12 30 20
C 2 4 40 50
D 4 10 20 16
E 2 10 80 60
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SECTION-C

Answerany 4 of the following, each carries 15 marks. (15x4=60)

£

10.

11.

You are given the following incomplete information when its mean is 25 and N =45,
find out the missing frequencies and compute mode.

Cl : 0-10 10-20 20-30 30-40 40-50

f : 5 - 15 = o

Compute coefficient and quartile deviation from the following data :

Profits : 4-7 8-11 12-15 16—-19 20-23 24-27 28-31

(in lakhs)
No. of companies : 6 10 18 30 15 12 10

Profits : 32-35 36-39
(in lakhs)
No. of companies : 6 2

Construct two regression equations for the following data and estimate the value
of XwhenY =70 and Y when X = 650.

X : 100 200 300 400 500 600 700

Y: 30 58 60 8 100 110 130

Find the coefficient of correlation between the following two variables by using A,
mean for deviations. Comment on the result through the probable error.

X .68, 8. 12 15...18. 20 . 24 .28, . 3i

¥ 10 12 15 15 18 20 22 26 28

From the following data find Fisher’'s Index Number and how it satisfies reversibility
tests :

Commodity Base Year Current Year
Price () Value(X) Price () Value ()
A 10 200 12 300
B 8 112 10 220
C 20 160 25 250
D 18 144 20 140
E 35 280 30 300
F 22 198 25 200
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1. a) ?30&7%33;3; DOTIBEI0 ?
b) Me =42 583 Z = 40, X &) 30m0%R000.
C) S5O0 DRE 0T ?
d) F0gE ABROLIOE 0BT ?

€) r=0.9, oy =10 & 0y =1.5 BNRN OB BT FBRBNTS)
BOROEROWD.

f) ©oBom Bert S3x>293 ?
g) 30 WBRDH TOEBOD ORETI) AR,

3

h) 2ot 50&5@53@1 3 Z%Od)d\) =121 :idg @@té’ocb ABNET = 23.16%. m’caﬁaabag
BOBIBEBOD.

i) woRRE Beed D0TTeRd ? LVTRETE ded.
J) Q;=225,Qy="54.722 5536 233033 2230 7302 2o TR0 08333 BOTEROD.
k) 20080 B80S 2030 9

) BB P0TBed>?
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oRR)IRBR 3 T3ner wugoR. B BIN8 ©osned: (3x8=24)

2.

20T w&ﬁ'ﬂ 100 SmHFNH TOROINOBYT, BTIGeLF T &m@rn’@d FOz003
3800,

LOTNED > 2 10 150720 - 257 ()
&)m@?ﬁeézcsﬁ: < 6 8 Z 3 2

100 D39, 8¢ TR0 ©08Nne>68.6 wﬁcﬁ% VS CEIFTIT SNapRalyatoaionste @oﬁﬁ@dzt
ioa-b&@*‘“““‘

391t BpLS00 TEY0300T WBIRB K0IRD WY T FNIR) BoRHROWD.
3( s.R.neY) . 58 60 61 62 63 64 65 66
TWFEORCS 1 4 12 24 32 X 416 8 2

BT BRLTOTN TE03003  A0D0° B3 8 03,08° FBRowog RBMOEIBR), BOTRIEROD.
X: 60 15 20 28 12 40 8 20
Y: 10 40 30 5 30 20 60 30

B3 FPN 9&SCN0T 033980 éz&gj ﬁcg)ts 02 éz&% %oééﬁ%ﬁo‘sgiﬁté’d 5837100 :
WFDRT@W: 5 7 16 27 39 53 56 61 8 101 105
WFRTW: 0 4 16 21 41 43 57 78 83 90 95

811 4283003 BE3080003 407 ¥EBF Rts,08 BorsBAAD. -

SR 23e3 BRI
Po P4 Yo d4
A 16 40 100 120
B - 12 30 20
C 2 4 40 50
D 4 10 20 16
E 2 10 80 60
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7. 33 3R DITHOD NS FoeR0 25 &0 2830, e.-sao;%odb 45 wﬁa’% BB esddgr{%fﬁgt
BOTRIHRT WBITS xz’mﬁbcmdg{ O RO :

Cl : 0-10 10-20 20-30 30-40 40-50
f : 5 - 15 - 5
8. FINT HRONYOT WBBOTF T VIOI do@i_g mmoﬁﬁﬁa’% FOTBOEROND
mzj(uiﬁ%*@m) : 4-7 8-11 12-15 16-19 20-23 24-27 28-31
Acaﬁeu'} »4033 5 6 10 18 30 15 12 10
m?.;a’(@#m*@) :32—-35 36-39
5% o
Do3ne Z0a3 3 6 2
G S
9. IYR im’aid)d tﬁa‘*_%oér{@od QOB a’dng,&bm ﬁmeﬁdmr{@é@t OB :333’3 Y =70
ejﬁmmn’x Q ®28) X = 650 ﬁﬁﬁa%'{ Y zdc:?a‘bdg{ E30TIVTLD TIEBD.
X : 100 200 300 400 500 600 700
Y: 30 5 6 8 100 110 130 .

10. &3NS d@oﬁ BBRHOLOT ABNOETTRR N33 FTIRO00T FOTBILRTI), FOLIDNEOI
3o

TBReRT 0T LTI TITN.
<

x

6 8 12 15 18 20 24 28 31

<

10 12 15 B BnH 2 206 28




" I 7- AS - 307

11, QWO® BTIF AU, 08 BOTIREDD, LT3 WRDTWETD eﬁaef‘jﬁ%g{ Zen %@a’aﬁagﬁcm
20003

S apiol SNROSRE AR SR

38(ds) =PY(3W)  BS(Ie)  FPY(SR)

) 10 200 12 300
w 8 112 10 220
) 20 160 25 250
® 18 144 20 140
a 35 280 30 300

oo 22 198 25 200




